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1. Copy the following on OMR sheet in the space provided.
Any one who has spent time in an organization knows that dysfunctional behaviour
abounds. Conflict i1s frequently avoided.

(Read these instructions carefully and understand them before you start answering
the question)
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Write your Registration Number on the Test Booklet.
£0 £BHDS Howthiy 85 s Hixts Feokoi.
_hff{-..u{;r{l{ﬁﬁ?u;}uﬁﬁ;w
3. All questions are compulsory. All questions carry equal marks.
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4. Atthe right hand top of this cover-page, Booklet Series is given. Enter it in the OMR
Sheet by blackening the oval.
OMR Sheets where Booklet Series is not entered will not be evaluated.
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the invigilator.
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(1-5) The following pie-chart shows the percentage distribution of the expenditure
incurrcd in publishing a book. Study the pie-chart and answer the questions based

on it.

205 PN D R ¥ PDEDND BHoBo 5355 @owd POV DHOVI0D. @ wehd
Do 80D Bots an@ndH HJo DERmRRPe) CRODoG.

Various expendilures (in percentage) incurred in publishing a book.

DRB0 HOOWEDS o wten (F8od?)
- :5 by

-:.—ﬂif‘:ub-'?uif'if;::_..u';,rr’».b;‘lf[jk_uf_:‘£éJJE&@IﬁF£ﬁhJJ¢JEJ£JJEH

'.:;,I_?Z‘-‘:%_ Jﬁﬁé&%lﬁlﬁLﬂuﬁﬂ%meqﬂ :..T.J,Eéi.
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Transpartation cosl

SR

= - 10%
L sl Production
cost Soadol de

10% %

— n:-ﬂz L.&_.: n b L :i-
-"\-l_\_'H_\_\_\_\_\-\_\- ] "

Royally T . N
15% /\ Paper Cost | "o Wl
25% s e
s ader
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If for a certain quantity of books, the publisher has to pay Rs.30,600 as printing
cost, then what will amount of Royalty to be paid for these books?

528 Ysre DB VPO 30.6008ma0008) Hotdoh Som 3PN, Ko oaDHOR BPowrd
Bo0oD 7

?JJJ:W{J;L:JF?;;...t‘ﬁﬂ.:.«fﬁ{{-:ﬁﬂ,ﬁm/ﬂﬁé_ﬂﬁgd‘u’g&;lﬁfﬁ
TJ:TL;'(

(X) Rs.23,000 (B) Rs.22,750 (C) Rs.22,950 (D) Rs.23,150
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What is the central angle ol the sector corresponding to the expenditure incurred on
Royalty?

oo S5 PBIR KoeDod BE6 dns, BofHod %m0 Hoi?

Sl K KL 10 S $ 2 et P15 sl
(A) 54° (B) 52° (C) 48 (D) 56°

The price of the book is marked 20% above the cost price, if the marked price of the
book is Rs.180, then what is the cost of the paper used in a single copy ol the book?

R0 dlng, DES Jo, E“Efiajﬂ 06 20% DERSR DYoNOD, RS0 GG, BEN Dol
180 tpaponente DFowd, 28 YVSNE ards 2D S0 DoB?

eI L L1712 3118028 & 15 N1 sk 0 d Fecd End 0 L
?Jﬁf

(A) Rs.35.00 (B) Rs.36.50 (C) Rs.3800 (D) Rs.37.50

[ 5500 copics are published and the transportation cost on them amount to Rs.82.500,
then what should be the selling price of the book so that the publisher can carn a
profit o' 25%

5B 5500 sobien Hreitm . 82,500 Qmﬁﬁ@i}:ﬁ Do @ond, HeNd 25% ereio Seowewod
5%, PHRser) Dol S VRO

.}%:}@EJQE’;?[/?:‘EJ_{_JLWEEU’EE% -:i'...iv-:JEE.SM;@!?i&;ﬁ!ELU&KEEﬂ}
s nd S &

(A) Rs.186.50 (B) Rs.185.00 (C) Rs.187.50 (D) Rs.190.00

Royalty on the book is less than the printing cost by

208308 Bo Boll mrahd Do Fs0 BB BODT

?,.:_rr,u‘jgf:éﬁ{_}:b*{f

(A) 32.70% (3) 33.20% (&) 35.60% (D) 34.50%

(Set - A) z

www.sakshieducation.com



6)

7)

8)

)

10)

11)

www.sakshieducation.com

IFind the median ol the following.
S0 2983 806,850 BiaHPHodw.

?fﬂlf._.: Et.a:r:lﬁli,)_'jﬁ;u

17,6, 19,5, 3, 25, 28,12, 30,7
(A) 145 (3) 12 (C) 17 (D) 19
I'ind out the standard deviation of the following.
808 06 Exb HodE O Baoftaosmn.

?;}};""JF}IU;L#F’LJ_’EE;JJ
10, 10, 10, 10, 10
(A)y 0 (B) 10 @) 5 (D) 50

A bag contains 5 black and 4 white balls. If a ball is sclected at random, the probability
that it is a white ball is
8 anid® 5 B9 wodow. 4 B o) dmeow, aRRsom &8 2080 &3 00 8y wos
WEPRNS DOoewEH DoET
KT o8 F il Lo e Nl Eif £ 8 siain £,L ¥5t Sl
_d@ﬂdl;.g;,giﬂifff{_c)gfl
(A) 1/3 (133 1/4 (C) 4/9 (D) 5/9

In how many ways the letters in the word *POLICE” can be arranged?
‘POLICL” 8 5060 50000 o) derente a5y ?
?.T_CC@EJ-._.:;'J"ULJJL U & S poLICE" s

(A) 120 @y’ 720 (C) 240 D) 24

From 10 playcers, in how many ways 3 players can be sclected? ey YRy S b

10 5008 Smesathe 08 3 Emesated DY DL QBT 7 v ;: il * |
TLEﬁuJJLuf’).J_”’fuptfsu;u’:upufm 23

(A) 30 (B) 27 (C) 60 (D) 120

What is the arca of a triangle with sides 3 ecm, 4 cm and 5 ¢cm? »w

3 20.8%, 4 0.0% Soain 5 Ho.de ZhEEnee 5% 0g0a 90 D0B7?

CHA TSR ET 4R ST L1 L g1 B3 K

- (A) 30cem? (B) 60cm? (C) 6cm? (B 712 cm?
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12) Arca of an equilateral triangle of side 6¢cm is: g Y b

13)

14)

15)

16)

6 oo eheone S Do 92D Ja20.0 D08

-.Lffﬁd"leﬁfﬁbequL‘ﬂﬂﬁﬂld:P
(A) 18 cem’ {B{ 183 em’ (©) 3J3em® (D) 93 cem’

The length and breadth of a rectangular hall arc 24 m and 12 m. Carpets ol size
8 mx4 m arc available. How many carpets are needed to cover the hall?

&5 SeBDosata) DS I, MG 24 o3 foooto ey 12 dm. 8 aoe x4 & par o 9038y
Otk danaac:m & HSD BDNEOE DY) 520t 50D i

Ld_.ﬁu:d!_.:'ﬁfﬂﬂfﬂfb'ﬁ{uﬁ:f uLflLJF/{MIJ.iJJIGUJdEUL}VJ!

“z—ﬁifﬂ-_—;){iA
(A) 4 (B) 9 (C) 2 () 10

A sector is cut from a cirele of radius 21em. The angle of the sector is 120°. Find
the length ol its arc.
2| 0.8 D80 Bo o ok | 2()'e VEER B8B0DSHoNS, HEE s, ©eD0 NG

w0es Y
S s Loz d 528 3120516 flshe 2 57 2185 ¥ P IHE 5 =0 210 L
_:f[‘:""
(A) 44 cm (B) 33 cm (C) 22c¢m (12) 88 cm

I'he volume of a cuboid is 33 m*. [Fits length is 16.5 m and height is 4 m, find the
width ol it

25 85 050 (B FUIBHOBIRRO 3350 Aexiy o0 D5 16.5. D00 S0 i) 4. DR
9005, 0 Dtien DoiS'?

0§ Auie Kadg K 1658 U1 A1- e 33mf s
(A) 30c¢em (13) 40 cm (C) S50¢m (1)) 60cm

T'hree cubes each of side 7em are joined end to end. Find the volume ol long cuboid
lormed.

7 20807 ZORBE00 5O HoRtk HEBVOR &8 Cp08 H6vE BODBD,B DD JEHD
Hisgnidsn alos, HBHOBIMID d0H?

TJ/{':J"(?E'J:LJI_L/"W?C?;E’J’ ',_»"LJJJ’:..Lfa..fufa.fJfﬁ.J{ﬁ
(A) 1049¢m’ (13) 1029cm? (C) 1039cm’ (12 1059¢m?
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A and B started a business with initial investments in the ratio 12:11 and their
annual profits arc in the ratio 4:1. IT A invested the money for 1 1months, BB invested
the money for :

A sooat B ev 12:1105865 Dtxmtoen 3¢ T ERG0 SB00DO. RODBOROBEDND 00 eoge
0D 4:1 . A 85 ep0dd 1130 6008, B sodiswo 85 Henndd domet?

-3 ¥ IHJL-F'CH#&LJ!{(’LJL-‘ ;ﬁLI{;JﬁL,LﬁLJLIE ll;L:JrJIEJJfA-

; : TL;:'IL-(:JAJ;L;‘Z.BF{_.E@.-J_LaL]lfo{';lA/ﬁ
(A) 4 months (B) 7 months (C) 5 months (D) 3 monihs

I 3 persons weave 336 shawls in 14 days, how many shawls will 8 persons weave

in 5 days

BIRE Ss80en 14 G%¢f; 336aevanoin 31, 8000 5 Hiard’ o senared Jabreth?
‘I‘J.E;_r JEE 5585783 yq.:adwaﬁutu; 14057 i

(A) 320 (B} 252 (C) 210 (D) 180

IF0.13 +p*=13,thenp =7

0.13 +p*=13 wond p = ? .
P eonep P=7._70.13+p? =13 ]

(A) 0.1 (B) 0.01 (C) 10 (DY 100
P P+
I Q_ , then P-Q ?
¥ P+
=7 el -}
) lener! PZQ ?
P+Q _If_=
pq Qg
2 4 1
(A) 3 (B) 2 (C) 3 (1)) 3

21) If \/3 =1.732, then the value of Eis

]
J3=1.732 sond 3 Do 2087

el %,_:_w =112/

(A) 0.313 (3) 0.173 (C) 0.617 (D) 0.577

(Set - A) 3
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I the average of a number, its 75% and its 25% is 240, then the number is
25 00%),, D&’ 75% oot e’ 25% & alng, Bien 240 wowd @ Hog, D07

OF 5 10307 38 240¢25% KU 13175% he 316300 L
(A) 280 (B) 360 (C) 320 (D) 400

I A exceeds B by 40% and B is less than C by 20%, then A: C=7?

A. 13 508 40% ot sopat 13, C S0t 20% &85 eand A C 2087
€olf A :C o man(20% < C Bsleokid0% =B A

b
(A) 3:2 (3) 28:25 © 3:1 (D) 26:25

A boat goes 24 km down stream in 10 hours. [t takes 2 hours more to cover the same
distance against the stream. What is the speed of the boat in still water?

28 D52 HEIS @eenn? SHHD,H 10 Sobeds 24 3hm Esin Hofeoor. Haratis otbtone
SRt ©BERE0 HODBOSERE 2 ok DBH D00 B0, D O-fo LS &YW
HEED D50 DO T

.-?;Gfcﬂ,,fuf*-fzuﬂg_iJI:ffJJHLﬂm-»;-_Jf:Eu: 510444 Krher Jir & L1
?JﬁL—rJG;JJj(JﬁL?;

(AY 2 km/hr (3) 2.8 km/hr (C) 22km/hr (D) 4 km/hr

The area of a square ficld is 6050 m*. The length of its diagonal is:
25 SSEGRPSISRY) o Paen 6050 SBEY ARty o, 0 BYDD eED0B Y

0¥ w2613 Y w6050m 3 K G o L
(A) 110m (B3) 120m (C)y 112 (D) 135m |

Today is Monday. Alter 61days it will be:
L e
158 B AFSometo mows, 018%we sthos O, 6% @)D

- Kb S U7 s6150 7 neo¥ 20T
(A) Wednesday (13) Tucsday (C) Monday sﬂj Saturday
The 16" term of the following progression 3, 5, 7, B Ll IS

Bod F0e8 105 Htdaoos 7

K 7}: e d 5160 -t

3B 50 Moo AL WL
(A) 31 (B) 35 €) 33 (D) 37
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In the given figure, what is the value of x, il 4x-5y?
Bot5o0ad Do, 4x 5y eond x Dend LoE?

"““\ 4x=5y il sfed Sx LS L L
s
4]
_ h\-\" ,_
(A) 105° B) 100° ©) 110° M 115

Dircetions(29-33): In cach of the questions [rom 29 to 33, two words are given in
capital letters scparated by a colon and have a certain relationship. Next to the
colon another word is also given. From the given answer choiges. choose a word
which has similar relationship with the given word.
aamesisen (29-33) 129 @Sood 33 568 do Hfed’. Soth Dupen HES VLS viabd,
HBB550006 HoV0ER 5B drow. S50l Bthes SE¥DBHL KBME0D. Fo8 CWHMAED
DaRese ok KB DB G5 Do DoB0EE® B oGO o HLY BRGPHOE
q_;:i;u"r";u: u;::ﬁciz.lfrdju;fﬂkuﬁ.FWIJJGJFJ‘*'L}:JIF_;: - 29 -33 i=lis

EF el et ebzb e S AL LT g1t L S 548

LI,

29) BAROMIETER : PRESSURI : : THERMOMETER : 2

(A) TEMPERATURE (B) TIEAT

(C) CLIMATE (D) WEATIIER
30) RABIES : DOG : : MOSQUITO : 2

(A) CHOLERA  (B) TYPHOID  (C) LEPROSY (D) MALARIA
31) SUCROSE: SUGAR :: LACTOSE: 2

(A) LIMI (B) HONEY (C) COKE (D) MILK
32) BANK :RIVER :: COAST : ?

(A) WAVLES (B) BEACII (C) SEA (D) FLOOD
33) AIR : ATMOSPHERE : : WATER : 2

(A) ITYDROSPIERIE (B) BIOSPHIERE

(C) ECOSPHERE (D) STRATOSPIIERI:
(Set - A) 7
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Directions (questions 34 to 38) : In the following figure. rectangle, square, circle
and triangle represent the regions of wheat, gram, maize and rice cultivation
respectively. On the basis ol the figure answer the Tollowing questions.

KesHen (34 $00638): o5 a0 HExINS® HY WHEHDL, BHEBHED, i, Szbaiiven
550080, BIOHEED, B, BOOAKN O DR Bons KR DR, HENR SERECR WS
Sot5 oD Do HEREeLD C¥DOSG.

Maize / &3,

\

Wheat / rfase

11
e  Gram /[ suisrap

| EE—————
34) Which arca is cultivated by all the four commoditics?
et Bzee Hobwdn D Go Pido DO? . "
- ?e;udlrhruﬂjlku’fdsﬁfh'JJWquu';
(A) 2 (B) 9 () 7 (I2) 8
35) Which arca is cultivated by wheat and maize only?
Bcgoson Bovao & Hmng A SH HIdo HO? ) | . |
e Qb eSS nzurd Ut S
(Ay 4 (B) 5 (€) 6 (D) 8
36) Which arca is cultivated by rice only?
- F_ . = o ] i
50 Sl A B HAWo DO’ quLdlfL{-:;‘bl{;dJ%u.jfuf:ﬂka(
(A) § (B3) 11 (C) 2 (w1
37) Which arca is cultivated by maize only?
&, o D -
&5 Spgad MHID HAdo DHOT h;.d{;d'dsﬁﬁfﬁﬁdfwﬂﬂwf
(A) 4 (B) 10 (€) 2 (A 3
38) Which arca is cultivated by rice and maize and nothing clsc?
50, £ Bngi droSm HoBG Aerh Sand HAKo HO?
?dﬁuﬁ;ﬁsﬁﬂjfd}ﬂ:uw L..-Iﬁ.‘u!dﬂgu: jllﬁu/
(A) 7 (3) 8 (@) 2 (D) 9
(Set - A) 8
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If the following words arc arranged in the sequence in which they occur in the
dictionary, {rom the given options choose the correct sequence.

8ol Doy AgH6SE 54 Bivod ©xoa), 8o cBWED JHEREUEPO0S HE0D ESRY
5505906,
?fﬁgﬁdiﬁﬁéﬁuﬂwl?i.lﬂ:;f};?uL(dicﬁunnry}:;ﬁfﬁf.#li”ﬁ:é__u}fﬂj

| Ay
l.fmrinﬂic 2.Intrude 3 Intricate
4.Introvert 5.Intrigue 6. Ingroduce
(A) 3.1.5.4.6,2 @ 3,5.1.6,4,2 (C) 5,1.3,246 (D) 3.5,64.1.2

[n the alphabet-serics "ABCDEFGHIJKLMNOPQRSTUVWXY /27,
which letter is sixteenth to the right of the letter which is fourth to the left ol [7?

ABC.DLFEGEH,LLKLMNOPQR,S,TUVWXY,Zoegt gs0d
[ 8 a0 HE;S 6 Ted 500, Db 5B 165 RNHod af eifto IO 7

LY LABCDEFGHIJKLMNOPQRSTUVWXYZy & 7L
Wl 2 e to VI nE Ui r e e 07

(&) U (B) S =) I (D) V

ITow many 3°s arc there in the following sequence which are ncither preceded by 6
nor immediately followed by 97

8065 aa EHoHtRe? ot 6 Hoaty JE 9 psom 80 3 w O] eagon?

e B 3015 E 2 e K0T 13 i ¥6 LT Ly oS 50
9366395937891639639 31
ry (B) 2 (C) 4 (D) 1

In arow of forty children, P is thirtcenth from the left end and Q is ninth from the right
end. [Tow many children are there between P and R if R is fourth to the left of Q?

40 5208 Dby HOHSE, P, oty DB6 H00d 135 PSod® Svotn Q, 5B DBHG Hob 9D
&aaﬁoﬁﬁ &R, R. Q & ofsh 5, meed Eﬁgﬁuﬁ* dodd, P oot R Botd D0 B0 BYyew
ARB?
;-%{/‘,}{_{.!gﬂ-hf;?L;;EQJJI«;-{/?L{JIEG-?;L!U:!L& JEPﬁ-UjéM:’.ﬁJﬂ
cey A& s e WSQRE Ut £ E g 1 E R
(A) 12 (B) 15 C) 13 (R 14
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43) If = means x. x means +, + means —, and — mcans =+, find the value ol
16x3+5-2+4
= w0l %, x®od ., ' @0l —, Hocan — vof + vand, S00 O Dewd OB T

|6x3+5-2+4
?Jfr}#:—EL{16H3+“2+4;L'ng’J + 8 =u3l —;‘-F ¢+y(:|l! ,:-:/é-/'}i
(A 9 B) 10 C) 13 (D) 19

44) Vind the missing number in the following in the place of 2.

3065 QRS HoEnd® 7 eHoS® GOBYS VoD B8,

e — e —

7 ?;frPfLHLIJLT-,ﬁJ"?”u:l.ﬁ._.f!ru-'-u'ijtu,u
/ 8 \
5 14 T q
\ 5 *
ﬁtk
15 ™y
(A) 33 (3) 145 ) 135 (D) 18

45) Inthe following ligure, a set of figures carrying certain values having some patiern,
Based on the same pattern. Find out the missing value in the place of .

BotS 0O H0SS, E9R H® HRRER0, HQF HEBS S D0 GFROW. B3 BB Huatito
(?) 5o @pi508° domP HoRD B5E%08.
LHGIJL"'J;JQJE-;_JIE:LJAJjﬂJI%ﬁLJJE*JJ£+g&hﬁﬂ;ﬁfﬁdi@n

el i8S
i :;“*- 11Y3l 15‘ G
\ - 9801 Y
144 .
.’
(A) 11036 (B) 2250 (C4 8100 (D) 1216
(Set- A) 10
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[n the following matrix certain values are given. These values follow a certain trend,
row-wisc, or column-wisc. Based on the same trend find out the missing value in the

place ol’?

8015 anH@EH HrG5eT 537 Hoe) ANFRTOD. T3 DOWED &8 DYHD0ND S0 eom
0. DenHN 500 BHDHORoD. 8 G*UE0 2 Sugso (?7) 8o ﬂ;aﬁuﬁi QB0EDH VoYM
5:508%,06.

.!(-..".-r': dl:LT,d_g-Lr:;JL"J Ay g ol J!-UELF{HB'J:IJIE Iﬁﬂ@uf‘:pﬂdu{dj&u

hfr'}""‘
B4 6 18]
e P > [ W
4 _.4 3 %
(120 1 126 | 320
) 8 Ty 12 (C) 4 (D) 16

.

[Find the missing character in the matrix in the place of 7.
Sot50nDid SRasd® faagso (7) 8o EDF&DEF BSOS eFoeR) B:08%,06.

“i{,ﬁﬁiﬁ'd’uf iz T .chLJE'J Sk L.-[JJ-?J HOYE,
b

!
b }"FLIHI I

(A) O (C) P (D) N

Based on the logic in first two figures, find out the missing number in the third
figure in the place of 2.
Bt5ed Sotho DerefD ol m;n:sum D00 BapiS Hod® Hagso (7) ef esod?

QO VoW ER0%500.
Ll T LSy drdt Soe Z e éseincd LI tufendia

Tifr'.#"fa-ﬂ
[ " ©
IR XN
(B) 47 ©) 35 (D) 37
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49) Ravi s 7 ranks ahead ol kiran in a class of 39. If kiran’s rank is seventeenth from
the last, what is Ravi’s rank from the start?
39 o080 Se 8oHad’ 60, Bod S0 Tm_sﬂuﬁ}m AV {=Tal:] G308, 02,05 DB dood 17
Bowd, 5O 0,05 A3 Wod Dod? :
_E;E’b‘u:_-pl..i':!;%_{._ﬁz; l?aﬁfﬂf_%éfhﬂg;?ac}/tﬁ (P F}BQL}:‘.:-F'{.?.._;I
3 -T‘: s 1.'1 b . S
i " -
(A) 14 (B) 16" 3 (©) 17 S (D) 15
ba | -
s0) 1f MOBIPIis coded as 46293927, theh EXAMINATION is coded as.
MOBILITY® 4629392700 8% 3%, EXAMINATION ® & ogorr 898 Sosaiy?
¢ £ /3 YEXAMINATION. > U 2 /3 46293927/ MOBILITY /]
(A) 57159413955 (B) 45038401854
(& 56149512965 (D) 57250623076
Directions(questions 51 to 55) : In each of the below are given two statements
followed by [our conclusions given. You have to take the given two statements Lo
be true even if they seem to be at variance [rom commonly known [acts. Based on
statements choose the appropriate conclusion.
Apesien (51 &od 55 S80): Bors cnBwaS HB8 DS’ Both HiswSaren, Hoouy FentH
DO Bemren Grgow. Joocsed Tody HiSSween, CHERVS BRGOM SYHBE T30 VB0
2eDOD, @30 spron: SRV HEOND HYSRR 95808, o |
,ul.:..-w.;,rlfufmjr;:l_u_refé_:é[ful;muyuiiwr‘_{rﬁ (51 - 55 1=ila)
I HKE RO eSS G i S L
51) Statements:
All men are dogs
All dogs are cals
Conclusions:
(A) All cats arc men (B) All men are cats
(C) All cats are dogs (D) None of these
ara)Cinreen).
BB0RPLOGET Bathen
B508 Deven
X BDRaReD:
(A) Bgpl Htodpew (BY Dvdpeottm begen
(C) Depof Brsen _ (D) oH= -
-ujid;?rﬁ
ULkl
:éi’-’r
L 3IL @ Lokl (© wudd Tl B udsTude? @A)
(Set - A) 12
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52) Slatements:
No gentleman is poor
All gentlemen are rich

conclusions:

(A) No poor man is rich

(B} No rich man 1s poor

(C) Some gentlemen is poor
(1)) Nonc ol these

Qﬁxﬁmm:

D a0l Bxnae daety 5t
)BEAIEPOOLER HHE0HEED
?e_jdaiéamm:
(A} & dsanti Erpee SHS08HED 5D
(B) 5 fddoion Knme Btiants il
(C) &8 2008 D dvsvdpen Bsartd
D) D& set>
welle
ce e faldl
At

o

e ST ® e g1 e/ @A)
S8 Lty (D) e FEWE (O

www.sakshieducation.com



www.sakshieducation.com

53) Statcments:

Some dreams are nights
Some nights are days
Conclusions:
(A) All dogs are cither nights or drcams
(3)  All dreams are days
(C)y Somc days arc nights
(127 Nonc of these

DB SaRen:
§98) Bowd e
9% oeitoed Goaren
Elﬁﬁéﬁrﬁﬂmﬂm:
(A) of Gfwew oeien &oe Been
{ﬁ:};' o Soem Sowen
(C) &g G%ren oogoen
(B 56 et S
g Eu A
*L{?thuf'm{
:éL:'
St Pl (B) NP sgard (A)
kg ©) gL ©
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EEEREEE R e — o

All roads arc waters
Some waters are boats

Conclusions:

(A) Some boats arc roads
(B3)  All waters are boats
(C} Some roads are boals
(12} None of these
VAT TG

8 wathen D8

5‘3{“:"){ R}mﬁ szl

$qséﬁﬂmam:

(A 8°Q DS meden
(B) o8 He) dde
(C) &) oodoen DESen

(D) 56 s

Fru O guE Ay L © gorlyr

www.sakshieducation.com
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55) Statements:
Some books are pens
No pen is pencil

Conclusions:

(A) Some books are not pencils
(B) All pencils are books

(C) Some pencils are books
(D) None ol these

Qa‘iﬁmuﬂ] :

§°8) ayseen SIQE0

& D BRE DR B,
oo
(A) 8% Pioseen HNE, 52
(B) o a3, Dz
(C) &R 2R, YRz

(BY 56 o2

ol
UL LA
wﬁ—bﬁ‘}ﬁ‘%
:éD

SAET S ® g SFETL @)
VIS FAECS AL (©
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56) [Find the number of triangles in the given ligure.

Sot5 ol HEHNG® Y Hgburen 0BT

;ﬂ ?\ f@ﬂlﬁfbd:au
s :-.,:‘.H,: . j::'x: “‘t‘:,;-

o . Bk

= s Ty il -_H:" =4 | PP
-,__-' . 3 ._,.r .\_ 1 - /’

” &
'] - -.- " 1.:.. s y .
- e, I v 4 -
il 3 ATV
%

!

(A) 18 (B) 28 (Cy 20 (D). 34

57) Count the number of squares in the given [igure.

800 DLHNGT O SEDeen BT

N e ?Uf&fiﬁuﬁfﬁdjﬁ;n

_-...! '.! r"-ll"‘“}“"\;ﬂr"

(A) 32 (13) 30 (&) 29 (1)) 28

58) A cubc ol white material is painted black on all its surlaces. If it is cut into 125
smaller cubes ol the same size, then how many cubes will have two sides painted
black?

B0 Borh 61 28 HDANTL B JYer HYBorD SFD. & TR DEPD HOBREO B0
]2.'31:2);::;:l uRdEenns 5800, Coth Jyer Seng) Sord e Dodnen ) Gotron?

qubﬁug’-;_ff;i_:ﬁ_ﬁ’ 125L J:ﬁ_g‘g’_ﬂeua’yuug{?@b{:& i
Tb’mﬁ:‘_ﬁﬂﬁyuh 'L Ji’?m{::_a:

(A) 8 (3) 16 | (C) 18 (D) 36
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59) A dice is thrown four times and its four diflerent positions are shown below. Iind
the number on the face opposite the face showing 2.

2ol DODBD VD Dots) SO, B et goBBres Bods Rbid DO SO, 28 BEVPON
$03 8030 5508508,
S L INLLN1z 26 3o etz 03 Y012 7 2t S (dice) S

il e
6
ll. ‘l | v Fh" ! III ; J—
214 3 | 4 5 | 4
\l/ \\/ |
(A) 5 () 3 (C) 4 (D) 6

60) Two positions ol a block are given below. When 1 is at top, which number will be at
the bottom?
5 23050 G, B0t ZoAoen Bots wRDRE0N. BB DI GG, IS S ©08 0kwod?

¥ st 1L f{d—/é?ﬁ#ﬂ!’lpﬂ,ﬂd{ﬂﬁuﬁ&'(j W byinl S Lr

/ 7\ 1 r f‘r-' w >
r - 'l * ; 1.’;‘

\ . o !p.” 9 %

(A) 3 (B) 2 (C) 6 (D) 4
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Dircctions (Questions 61 10 65): Study the table given below and answer the following

questions.
ardden (61 Hiod 65) @ o oD oD O 00H0 S Bots ondndd Do)
TR RRREE,.

_‘.LT"‘;.TEI_E'Lmﬂlfﬂl’-ﬂ.i;fd:.?é‘:é..:uﬁdj (6] - 65 :=(1a)
Age wise population distribution ol a state:

2t ue@a alos, SHahay aedre wmge DG

Age group/sonin, I‘crcﬁirilagu
(years) ﬁna‘ie}idt::-ae.::j (Yo) weio
(i) p 6 F .
Upto 15 30.00
Up to 25 47.75
Up o 35 65.00
Up to 45 79.50)
Up to 55 03.75 Ao
Up to 65 98.87 e
Up to 100 100.00 Y

61) Which onc of the age groups listed below accounts for the maximum population in
the state?

m;ﬁo@s 1508 Do O SO0y HdaRErRo &8I StL T

M
(A) 0-15 (B) 26-45 ?'am
(C) 15-35 (1)) 46 and above/d46 Sopatn b S

uffi.ijfs/'ﬁd:ffuﬂd;ﬁfp
CZTmsdud6 ) 15-35 (C) 26-45 (B) 0-15 (A)
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Out of cvery 4,00,000 people, the number of persons below 25 years 1S
(Approximatcly)

58 4,00,000 o Hret, 250058005 BB HoBB0D ST (MBREN?)
0 (Tt dts £ L2501 7400000
(A) 191,000 (B3) 1,81.000 (C) 1,94,000 (D) 1,96,000.

ITit is known that there are 40 million people below 36 years of age, then how many
million people(approximately) are in the age group of 56-65?

36 FIOHE0) STeT) 80,3500 40 20D S0l é‘?ﬁﬂ EE@, 56-65 ROoBHoW ﬁ}qﬁaﬁiﬁﬁbaﬂi}ﬁ

32008 darai 57 {FﬁJ:{JJnCSJEﬁ]

0 F o et f JU-56-657 nt a0ty e Ji36.S1

(A) 4.2 (B) 3.8 (C) 3 (Dy 3.15
64) I the difference between the number of people in the age groups ol 46-55 and
26-35 is 3.9 million. then the total population(approximately) of the state is @ (in
millions)
46-5 50058020 SO0 26-35 Hodioee 505, fioeayel? 3.9 Qdohdp 008 G0 00g) e3RegT
) DAY PRzt )
ST 28 ertud n 7 H;l:félgcﬂfﬂﬁu,r:fr'_.ijfiﬁ—35.-':1...;:}L‘1f4—ﬁ-55ﬁ
oS E(11an
(A) 120 (3y 130 (C) 390 (D) 300
65) What is the ratio of the number of people between 15 to 35 and numbecr of pcople
above 357
15 08 35 Hosisme S0, 68 Dae VoYL, 35 VoSEe Sol HERBO & Hav VOB
e D 0BT _
(A) 2:1 (B) 1:1
(C) 65:35 (D) Nonc of the above
el B TI L T = F U35, L350 15
S eyt @ 65:35 (C) 1:1 B) 2:1 (A)
(Set - A) 20
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Directions (Questions [rom 66 to 70) : Each of the following qucstions consists ol
five (igures marked 1, 2, 3, 4 and 5 called the problem [igures followed by lour
other figures marked A, B, C and D called answer figures. Sclect a figure from the
answer figures. Which will continue the same series as established by the problem
[igurecs.

RpeesHen (60 Hood 70) : 2ot o D8 %ﬁsmmammm 1,2, 3,4, 5 5 dmdodod
o, HED B, D DoDsgand, A, B, C, D588 srenth dampedny Hésnen
S0 O, DEGBON. DB Dewe Hod, HadR; HERDE E¥HDJHOYTP GOG DB D
DEEF0h.

2 Sy g s5:11,2,3,47 LSS L iy (66 - 012 Us)

._._Jlr‘ﬁﬁtﬁ;[f' JZZGMJ:}:,UCU[BL}LE-UIHU LU!EL}F}?DJHA, E,C:’il;fl/fj

g I Ll
66) |+ ) ._
! = : T T . + =
1 2 3 4 5
| | - i
(A) |+ ‘ (B) J (C) L (D) | |
67) A :I ‘
0| ® | A |
o |
1 2 3 4 5
e . "
R (B) @ © | [9] () ‘ B
(Set - A) 21
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> S\ 1 v
68)
S N cC |P T
3

A A L L s o
. r T

T _ —e .
1 2 3 o 5
j‘ T W —--l - I .--.-
(m'*-lT_.. @) [L T (© }._ t ) ﬁ_. ]
Pt I ——
0 |* =
O * 5 *
= * =
1 2 3 4 B
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Dircctions (Questions 71 to 75) : The following questions arc based on the letiers
written along the figure given below. In cach question, the relationship betwen the
two terms written to the lefl ol : : is retained in two terms to the right of it. Out ol
these [our terms, one term is missing. Choose this term out of the given alternatives
in place of ?
Rwcsoen {71 &ood 75 H5E): B0 a8 Hdfen Sotd o DEBNHR BFDWD BERUDHE G
D Qﬁ@ﬁm 1 8 D) $5, Sotd DHuween, b DY, Goth Heen GoGed. BobDHEN & Duw
B0t VOVOO, HED VB Gif Doew Bagl; HoWOHo afenl Gotnod, Botond Dt
Demodd Hanso (?7) e eBos® Do Himegeme H5g5%08.
J;HLLJLJ-*U':LJJF__{-.;-E_-_jﬁf-ié-Ju’:i:L;{_}hTrﬂdulfh!jE;JJ C Tl - 75 1o el
PERY - T 13- PRy g ¢ -y - C_'rwﬂ_fmﬂuﬁfui_ugﬁ'ufhiuﬁ 122l 2 s

G
= ar
I TR I L,
71y AKJ: OGN -2 EMD ;2
A} CLB (13) AKD (€) S CED (1) EMI
72) -r&*ﬂ': PBA - DL 2
K) CDP (B) PME (C) CLP (D) PIG
73) AIFHO : GBDM : : CTIFM : 7
(K) GBLD (3y «B3DM (C) GBIO () GPLD
74) AKJO : IOIIN:: CLBK : 7
(A) LEMGII tl'fj FEMIDI. (Cy LDME (D) GNI'M
75) AOE:7:: GMA :NKM
(A) KMN (3 KI.M (C) KLF (D) KLO
Direetions (Questions 76 to 80) : The sheet of paper shown in the figure (x) given in
cach problem. is folded to form a box. Choose from amongst the alternatives A, BB,
C and D. the boxes that are similar to the box that will be formed.
FaJeTIAIEN {?ﬁ dod 80 H05): Bodondd 08 %&5‘5, DHeosay (X )e ] Eﬂﬁaﬂmg. 215 etfaeryo
seowsss A, B, C, 1D guebnaireinod X D B0D00@,m ¢ weii DS 2p50 oyt ob.
e WU (X )y LIL S s 225 LU i (76 - 80 tmliy)
S9SN el EDuIA,B, Ca s p S\ 2l S W e e Xe o
|
® [T
-
(X)_ . e
.-""III /J
(A) f (13) Iﬁ“_. '. (C) 5; (L)
(Set - A) 23
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78)

79)

Mj__‘_'_ e

(X)

(A) g (B) M © Lé://ﬁ

(Set - A) 24
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(D)

(D)

(D)

&

)
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. .
(23+87) —(87-23)
(23x87)
(A) 14 (B) 6 (C) 4 (D) 40
) 3
If 60% of 5 ol a number 1s 54, then the number is :

3
&8 Do’ & Hodorh 60% s, Hevs 54 wowd w Koy, HoB T

=
3
o J°13 w540 60K 5 /]

(A) 70 (B) 210 (C) 140 (D) 280
83) Which ol the following is exactly divisible by 117?
goo ardde® 11 I8 DI H0m griodad Hog, HO7
_;:_.L-:')/J.wlfhi.ﬁrﬁ;l ,;JJI"L};LIIJVEJE’JJ
mw-248532 & (B) 376467 (C) 126586 (D) 437613 *
4
84) The product of two numbers is 1320 and their TICI is 6. The LLOCM of the numbers
IS : 4 "I.
Bots Homy R0t aEw 1320 B0 el 5827 6 0, & VOB TS, 6.1 W0 ?
_;_.: ¥ rﬁﬂulLCN[h"Jﬁ JJ...:-_EHCFE’JJJJIIEE{}J!'? K2l ety
(A) 220 (B) 260 (C) 120 (D) 230
85) Which of the following [ractions lic between 1 and 6?
3 3
8od e, 4 000 Co g 60l P DO?
: 5 3
_Jﬁ/ffu"bu:i & ol
A 2 B . C ’ D :
(A) - ®) (© 5= )
(Set-A) 25
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89)

90)

91)
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Simplyfy : 23 - (15-(16+ ;EGI'(?::: 8—2))+3)

maigaaﬁm

:gup..:.-l:lr-r'

(A) 82 (B) 74 (C) 58 (D) 63

If 2x + y < 16 and x + y- 11, then the value of xy is
2x 1 p =16 Sovotox + y - 11 @ond, xy Dend Dois'? |

?Jﬂy’.:aé Jx}r;ﬂx +y=11.12x +y¥ 161
(A) 21 - (3) 18 () 30 (D) 28

What is the valuc of K in the equation 9x*—kx-+81==0, Which has equal roots.
Ox*~kx+81- () @3 HRueEtmeds suneren HamdHoond K Heod os?
?wﬁ:h&;;ﬁ.pﬂgﬁg@&ﬁuﬁahh 9x—k4+8l=0

(A) +24 (B) +54 & 32 (D) +48

Find two consccutive odd positive integers, sum ol whose squares is 514,

Soth) B Sreid,S AR Hoye Hifne DwEsn 514 eowd, & KoODT?
“ir:l"'"Ji.ﬁl?ﬂqﬂfﬂﬂ&bﬂf’ﬁlﬁfdﬁ".u

(A) 13,15 By 15,17 (©) 17,19 (D) 19,21
- a
V136+4/60+4/10+6 =2 . PN
LY. ¢ & 1'!,""‘:.
.:/’IE "11_\:' _'L :r.f“"}
(A) 16 (B) 14 ¥ (€ N4 (D) 12

The first term of an Arithmatic Progression is | and common difference is 3. I'ind
out the 11" term of the AP.

&% @osHae8 Bnde HEEn 1 Moo Horodto 3 eonsd, v a6 115 H5dos?
t S s BN w1230 625 S 7 b JE S A Jlo L

(A) 31 (B) 28 (C) 34 (D) 25

(Set - A) 26
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95)

96)
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The sum ol three consecutive numbers in Arithmatic Progression is 30 and the first
term is 6. I'ind the common diflerence of the AP?
255 SOEIAHS BathBLD Do JndEn 30 oo Antsed HEBH 6 Yo, 8 F§ s,
BEIOBSE0 DO
_fﬁﬁﬁﬁffﬁfﬂqui% 6.4 :,kfr’ .-Eé{..ﬂ[];.ff E’Jrl"L}LP L Jiﬁfu,';:}!:""
(A} 3 1B3) 2 (C) 4 (D) 5

A bag contains a total of 260 coins ol 25 paise and 50 paisc make a sum ol Rs.80.
The number of 25 paise coins is :

8 Do’ éig 25 poeo, 50 poe e o), 260, & mFe dnEHn Heod 80 BREnahHoons,

25 e Dosen OY?
'i'£f.£.éf.uid?.ﬁ:’:fé_.:Jﬂﬂmjffu’wézﬁﬂﬁﬂéﬁﬂ;;idzﬁdhfkil
(A) 200 (B) 150 (C) 250 (D) 180

What is the sum of all integers from [ to 1007

I #0od 100 555 Ho JpY Do B0 D0S7
S e F ok 100 1

(A) 5000 (13) 5100 (C) 4950 (D) 5050

o W7,
I x = 5. then what is the value ni 5

v — 5 eand { l‘%*T) e DO 7

(A) 10 (B) 50 (C)y 23 (D) 40

A loan of Rs.9.000 is made at 10.8% per annum simple interest for 30 months.
What is the total amount due at the end of the time period?

9,000 Srarobe dweg 10.8% #ﬁmé@ﬁ&mﬁﬁ SGMWM.WME’)%&‘
WO# ANHBO WD

.f‘u-.-_ﬁﬁ uﬂ?;(’i._fﬁﬁy’yé_ﬁaLsnﬂrdf.,uL-mE%Jfa_umm
(A) Rs.11.250 (B) Rs.11,430 (C) Rs.11.480 (D) Rs.11,520

27

WY WY WV a0 0 e Yl el Yl S B s i 0 0
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98)

99)
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A check for Rs. 6,360 was used to pay off a loan which was madc at a rate ol 12%
per annum simple interest for 6 months. How much moncy was borrowed originally?

£908 000 D 12% b 58 S8 6 JowH 2rtodda® 6360 trdeaten ngom BPoSHOR

SO, D08 Bded 568 850 2ohod?
sei e JEW L Lo 20 122 U2V K 2 563605 L1/ 5
':'JFU-:J/FJJJ; J

(A) Rs.6,100 (B) Rs.5,900 (C) Rs.5,800 (D) Rs.6,000

An advertisement for a loan company states that you pay simple interest only Rs. |
per week for each Rs.100 borrowed. If you borrow Rs.5,000 lor 50 weeks. What
amount will you repay?

2% ©%, A V0P DD DELHS 100 ERD0HO GHE 0B w8 BIDOND WRLHEM
BPous5R 3ho0. Hy 5.000 Sraned 50 Pred en,m 808 K08 Jne] 808
DO 7 o & . .
,.r:_.fin_,l’}%:Jlm;?u&;i:ﬁﬁul.:.r‘b}d:‘"{;}{j,cﬂ Lﬁfrdha’.‘;_-.mf/

S8 Sinf 1§ MIATYS 2 L 502315001
(A) Rs.6,500 (B) Rs.7.250 (€) Rs.7.500 (D) Rs.7.750

The simple interest on a certain deposit at 4.5% per annum is Rs. 202.50 in one
year. How much will the additional interest in one year be on the same deposit at

5% per annum?

8905 AeeeS P 28 HOBBDB 4. 5% nbrr 5GBS 10.202.50 w85 @onod, €3 Saeees
2 5% b 5§ Ted? 88 HoSBEOS Bl VBT H§ 2087
(ISl s 320250 S L1 £ 20045%:5 T fU7 g3 )]
?JﬁL?(FJJH“'.&_J?;L?JJ/;JFL;JI}LFS%
(A) Rs.22.50 (B) Rs.21.50 (C) Rs22.75 (D) Rs.21.75

100) The simple interest on a certain money at the rate of 5% per annum for 8 ycars is

Rs.840. At what rate of interest the same amount of interest can be received on the
same afier 5 years?

8% @0 D 5% »doe 5 Ses’ § Dondmesaly erdsd 840 trdeaen. Ko o
odar 5§ Be08%, 03 Ode P 68 5§ DD DoBECRS® VeoBH?
P S EIN Eml9s80L I8 &> L 2U05% 5T FU 4 4k
3 ST st it S S et e alIs
(A) 8% (B) 7% (C) 9% (D) 7.5%

(Set- A) 28
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101) Find the amount that should be invested now to accumulate Rs. 7,840, 1 the money
is compounded at 12% per annum rate of interest continuously lor 2 years?
Both HoSBoe Bmes 12% edie 5 Sod SE5GE° 50b 7.840 trdeoHen Sromeeol]
R OB B0 Y E:Suina? _
?fﬁtbﬁﬁl/f“' Jd;’?f;ﬁﬁfwb?.%{-? dib;'n.f/:f 129% 20l a2 Jboss
(A) Rs.6.400 (B) Rs.6,500 (C) Rs.6.250 (D) Rs.6,300
102) A man borrowed Rs.5.000 for compound interest at the rate of 4% per annum Jor
2 years. How much will be the interest?
28 58 5,000 tnarobod 4% P 56 3end® 2 Hodgves $5568 S, Hi Do
@3)E00 Y
Snd’? Wi} e Lo L_,f’;;r;,uw%g_usanf,{:
(A) Rs.408 (B) Rs.414 (C) Rs.406 (D) Rs.412
103) A man borrowed Rs.12,500 at some rate of compound interest. At the end ol two
years he paid back Rs.18.000 as linal payment. What is the annual rate ol interest?
2858 12,500 smaronen 5201 58 Gtnd? 55568 Srds 0 Both woBEowe Broas 18,000
tRdRohe Snml BPoD B, Bo), wBth oB M HE T 58 Sdoari?
JL;'L? ﬂt‘ﬁ:lé_ !JIEMLJL’EJJ:I?-&IJ;?LPL -, g2 IZ,SM L1

oS nlore f
(A) 15% (13)y 20% (C) 18% (D) 22%

104) Arun has borrowed some money for 5% annum compound interest for 2 years. 1l
paid back in two annual instalments of Rs.882 cach. The sum borrowed was
95 5206 Bend 5% MHoe 5Bk & 2 DobEoeety wEHGS iotmd. vt &, 882305
Bothy an0 S TN OB, PO DY, VB Do B20 OD,M Eograntio?

b3 o882k Ub” S0 ol B /L LJvre N> LS ol foii 5%
..L!’HgFJL{L,?;;f_t'ﬁJIG'-?L"L
(A) Rs.1,680 (B) Rs.1.620 (C) Rs.1,700 (D) Rs.1.640

105) A deposited Rs.6.000 in a bank at 5% per annum simple interest. B deposited
Rs.5.000 at 8% per annum compound interest. Alter 2 years, the dilTerenee between
their interests will be.

A 03 58 6,000 treoboR 5% e 5E3k08? arthind 965 daraes doad. B o3 88
5,000 trarcnod 8% dHoe 56 Send® SE548 BseS deek. Gotk DoBBoe Swa
008 H1) Shod? wos 8w dokood?

LsrU 8% 2WBitet S eia o Lorl or™ 20055600005 & A

-gﬁJ}HJFJJJFﬂJL*EFﬁ':)’J,-j[;.?%..”ﬂ]{!};.,.__,u
(A) Rs.232 (B) Rs.230 (C) Rs.600 (1)) Rs.832

(Set - A) 29
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106) A man borrows Rs.12.500 at 20% compound interest per annum. At end ol every
year he pays Rs.2.000 as part repayment. How much does he stll owe after three
such instalments?

A Eﬁ..}" . 12,500 e 20%a :ﬁﬁﬁ (edme) 93, é-rdja::radtfa:- ﬂﬁmué%muuam-“ & th. 2.000ex50
Felole ﬁmﬂnmatﬁj o D00 mmaﬁmﬁ; u‘@u ) @oweds, W) ROS WO @nh {:":"}m.ﬁéﬂnj

aoknosH?
1£.3,2000\ gislee bt SV b > LS porl 220V 20%S 7 #;;tzﬁmﬁ"_ﬁ

?.LLE";ﬁJFLJngL#uf,ﬁJﬁL;d}Hde.{_FI
(A) Rs. 12000 (B) Rs.14.320 (C) Rs.15.600 (1) Rs.13.000

107) A and B together have Rs.1,200. 1f hall ol A's amount is cqual to one third ol 375
amount, how much amount does “137 has?

A Soooin Do 68 e dodo 1,200 txpdpeaDen. A olosg, &Jﬁﬂ&ﬁﬁ wrso. B ding, dwiBod?
SoRts HoEE pERGo wonsd [3 Hos dwvdo 5DA emt?

_.-:-_J:J'_.r:f_ﬁ.,_,-a?[jli.;f ,!rKrE;JEJA"E’FJJA,ﬁ_{_%_ :JIE{H}FJ,J-‘:J!;L BrslA
NP LING Y

(A) Rs.750 (13) Rs.700 (C) Rs.650 (D) Rs.720

108) A sum ol money is to be distributed among A, B,C.1) in the proportion of 5:2:4:3. 1
C gets Rs.1.500 more than Do what s B share?

§%08 dwad A3.C Jyend: 243 ﬂ.tlﬂe‘f’ Docgod, C & D 8o 1.500 drapcien oEnd
D08 B & 54 arern D087
,t-l;d_uliﬁ[};,ﬂff{:f-ﬂ.t‘fr‘"v c;uﬂbiﬁ 2:4: SQLfJ:iABCD:?;._fI

S nl 2¥BI vt S S0
(A) Rs.2,500 (B) Rs.3.200 (C) Rs.3.000 (D) Rs.2.800)

109) Seats in Lnglish. Hindi and Tclugu in a school arc in the ratio 5 : 7 : 8. There is a
proposal 1o increase these scats by 40%, 50% and 75% respectively. What will be

the ratio of increased seats?
28 Dsmes’ gofip, oo o Burbest af by 517 1 § BB® drmow. e L
Stoam 40%. 50% soeatn 75% od DB Ao, Eaé.:l-;g 20670 Sthard D0 o Do

actnolh T

-uﬁLJJ"""‘LJ Ji:;fuff u’”r_,-lfn...-'bJE 7 EWJJ!&-JJrLSHfﬁIJ#‘JAJI
ol A EKUFZ T 2 3 1675%.3150% <40%
- (A) 4:5:6 (B) 5:6:7 | (B 04D (D) 2:3:4

(Set - A) 30
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110) Salaries of Ravi and Anand are in the ratio 2:3. 1 the salary ol each is increasced by
Rs.4.000. the new ratio becomes 3:4. What is Anand’s salary?

55 sonaty edole deaeen 213 ma@e‘iﬁ Groecw. ASO dimoeito 4,000 trdeabe <D, DO

@ 088 3:4 8iHiod. B0k I, B0 HOBT
Y E..lflj/.jLJbei;_ud,Wﬂ? :_;...E'I‘,.f; le2:3 ?MEE‘{_):TJ?':‘ Jﬁrnltjn
SnfaF ST o8l 3:4

(A) Rs.10,000 (B) Rs.8.000 (C) Rs.12.000 (D) Rs.14,000

111) The sum of three numbers is 196, 1Fthe ratio of the first to sceond is 2:3 and that of

the second o third is 5:8, then the second number is
SRy DO oD 196. 30583, Bots Dope ARG 2:3 Hoooin Bo, SRGD D0
058 518 mowd BotH Dog OB
F5n5:8 rEbrn .r_f:-..rsfd./uulz ; SH—JA";::E/JH*‘;&—}"?JJJ'&‘;-IT— 1964 - KJJL‘,E/G
E'fﬁm,ﬂffgﬁ
(A) 60 (B) 45 (C)75 (D) 30

frd | [

3
112) 1£Rs.1564 be divided in to three parts, in the ratio of b 4 then the third part is:

[

QOB Sy R I, Bt erio DoB 7

| 3
1564 tmérahod S "4

fad |

"

A s 1 . 2 i 3 -
ctillorbe EIS LS el T T T LU S L1564

(A) Rs.676 (B) Rs.612 (C) Rs.684 (1)) Rs.512

113) IF 40% of a number is cqual to two-third ol another number. What is the ratio of
second number to the [irst number?

~

et

3
Dooesed ﬁr::a:hﬁﬁ (5 DEB OB T

40 80 s, 28 oR), , D Bod Ak, HGE VoYL HBRDHO oo, Jots HOFE

(A) 3:4 (B) 2:3 (Y 315 (D) 210

(Set-A) %z '
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114) T'wo numbers are in the ratio 5:3. If'9 is subtracted [rom each, the new numbers are
in the ratio 23:12. The larger number is

Jothy o 3:3 DG drsow. e Gotd Moo 9 0 EHIY, §% vowea vGB 23:12 ©and,
) DO, «.L-'Jﬂ'ﬁ;?

Kl sntye o K523:12:0ELT L%L:U«fga,uﬁw!ﬁ e 5:3erFHlulss
(A) 35 (B) 55 (C) 45 (D) 65

115) 60 kg of an alloy A is mixed with 100 kg of alloy B. If alloy A has iron and silver in
the ratio 3:2 and alloy B has silver and copper in the ratiol:4. then the amount of

silver in the new alloy is
60 B p o A Qo 6o 100 3.0 0 B S0 65000 65 50000. A Qugadisrod® qiboann
Hoootn dod 3:2 0585° émran. B g pod’ dod Spatny 0d 1:4 053 & 604, 5%
D008 Jod Dol nisod God?
Frb L3208 g T e A L AL ot A8B 1./ ¥ 1000512 £ ¥ AL1L K60
Ceszr b1 SEE I fe AGTT s g Bt e B S
(A) 36ke (B) 40 ke (C) 48 kg (D) 44 kg

116) The ratio of incomes of A and B is 5:4 and the ratio of their expenditures is 3:2. 1T at
the end of the year each saves Rs. 1,600, then the income ol "B’ is

AL Bo soecipe 203 5:4 So0oin ethe DDHB 322 ﬁuﬁ%uﬂﬂﬂam% 2ty 1,600 drarpahe
P, R @a, 3 @i, soeaHo D087
J&."_'. u‘,}”‘:r'?_;:_ JL-* /ﬁ-r"_l’- o R f@@lﬁlﬁ eanle S 4 b E‘JATJBJ:IH
?JﬁgG.LTJH;ﬁJH&f J%.JJ[HI]
(A) Rs.3,200 (B} Rs.2,800 (C) Rs.3,400 ([D) Rs.3,600

117) Ram scores an average ol 65 marks in 4 tests. How many marks must he score in the
5" test il he wants his average mark to be 5 more than his previous average mark?

oo 4 HOEHS 65 et DTt OO, B B VIHND 5 B HoHEmeod 55
DOL i) BTERED DHOEDY
BT 2 b St baisgt ey £ LNEL S 65t baigt o4l 1,
EntS S0
(A) 90 (B) 95 (C) 85 (D) 80

(Set - A) 32
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118) Bag P> Weighs 5.5kg. Bag Q' is 3.5kg hcavier than Bag I What is the average
weight of the two bags?
P ey cBot, adoi 5.5kg. Q argh ot P ength a2tk £0&3 3.5kg en 5. & Bodd
AR50 DLV PO 0B Y
ol sl STl st i1 S35 PShwis¥Q| -1 SH5.50558PS
(A) 7.15kg (B) 7.5kg (C) 7.75kg (D) 7.25 kg

119) If 16a+16b=48, What is the average of a and b?
16a+16b 48 wand, a dvatn b e Hitkn D087

| -gﬂgb"jlfbi.ﬂﬂ;ﬁlﬁa+ 16b=43j;
(A) 3 (B) 5 (C) 1.5 (D) .25

120) The average marks sccured by Vikas in four subjects P,Q,R.S is 85. If he has got 75
marks average in P and Q, what will be the aggregate marks secured in R and §?

Db PLQR.S ﬁ@%mﬁs 85 Smtne Hiskn Ao, P Sepais Q ﬁ%égﬂeﬁﬁ 75 soptioge &5t
Deood R ooots S 0G5068 00 Dritw SR80 T
J el P U5 sl & g™ QuslPIoe 85t besI AP, Q R, St ¥ e LUK,
?iﬂfatﬁ-}u/rfhuﬂ'gﬁwlﬁum
(A) 90 (3) 95 (C) &5 (D) 100

121) The ratio of a man’s age o his son’s age 1s 4:1. The product of their ages is 196. The
ratio of their ages alier 5 years will be :
&8 B0 Hoooily 5UEEY SR 4:1 058 anzow. T HoHL OO 196 eond, D%
DODHB0 B 300 ol HHB 0BT
Tfﬁ!...,-—*h'-'h’f;fﬂiﬁ JUs.e 196557 KUI0 £ e 8:1~CEf S& LJIJJIL}‘? oL
(A) 14:5 (B) 11:4 (C) 3:1 (1) ‘11

122) Chetan is twice as old as Mahesh and half as old as Suresh. II'sum of Surcsh’s and
Mahesh’s ages is 85 ycars, what is Chetan’s age in years?
BisS S0y Soarh SobRyE ok 5 HO0 WIK SoHY* Do God. K008, Soarae
HoHe J0BO B3 mna‘:%mumﬁ. DD HODHY DO ?
FﬁdlﬁﬂiﬁrfE’_,fJJ’—?,J:IJ’ff,ﬂ_.ILJJKfJﬁfJJF%JJ:EIfJJy/fJUE

NETPA-
(A) 32 (B) 36 (C) 34 (D) 38

(Set - A) 33
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123) The average weight of a group of 150 students in a class is 60 kg. [ the mean of
weights ol all the 50 male students in the class is 70 kg, then the average weight ol
girls in class is
28 86056 &30 1505000 oD dusthe Dt adis) 60 S.g0. SUE00 oo Dty

25 70 8.0p wand, DO DBk L) Do 7 oYX RTD 51U
el Rl f“"-ﬂ'h. -

UL DI 1 S0 58 0TI 50 N1 1 S E G0 5k 601508 3 TE otz S
| ol iskesl§
(A) S5kg (B) 50kg (C) 45kg (D) 60 ke

124) If the sum of two numbers is 12 and the diflerence is 2. FFind out the product.
Sothy Doy Boisn 12 Soain aeed Han 2 vond & Sotk Dog.e om0 0BT
?b’ﬂlfd”w’;jl?ﬂ_zﬁﬁurf_]Ls:ff;ljl;.sﬁ. .
(A) 28 (B) 24 (C) 30 U.J;T 35

125) 11 15% of 40 is greater than 25% ol a number by 2., the number is
40658 15% Dens, 506500988 25% Bod] 2 L0 & Doy, DHO7
°F s Efj.iﬁ u.;"’c;'_u’lzj?,{_ﬁq = 25%.715% §40./1
(A) 12 (B) 20 (C) 16 (D) 24

126) In an examination, 70% ol the students passed in Lnglish, 75% in Mathematics and
65% in both English and Mathematics. 1140 students [ailed in both the subjects, the
total number of students is

&% D65’ T0% 2000 a&f‘ia’q&ﬁ? 75% o008 Hddsod? sooatn 65% 008 Todoeds¥hme
éﬁmmﬁm. dotss F.‘Jéi%ﬁﬁﬁ:a 405000 Doweonsd, 00 DO DOYY, HOBY
e 3] ™1 - L I 1
yLr‘KﬁU‘_I;JufJghw.ﬁjﬁﬁulLﬁ-fy 194 Lﬁ"k:#’;‘??ﬁu’:uﬁﬁfrw.&‘éTﬂu’:u}?h{J

i'dfﬁl_.f;rﬁ,lfufpp”’?uxiﬁrﬁu:u,n‘.'biﬂufml}bduﬂ-é_ﬁ
(A) 200 (B) 160 (C) 240 (D) 120

127) The difference of two numbers is 20% of the larger number. 11 the smaller number
is 40, then the larger number is

ot Dome PSbn, 1 Dow S 20weds DHiirssn. @ o’ Oy How, 40 sawd e

R0, OB 7 ‘
_fﬁmﬁlﬁiiﬁMJﬁﬁ'ﬁfﬁi%QG%KJHLEJ)L;L’J}FLWH
(A) 40 (B) 50 (C) 60 (D) 45
‘Set - A) 34
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128) A student multiplicd a number by 2 instead ol % . What is the percentage error in

the calculation?
a;émgjﬂ 28 DoORND /ua oexm 2 8 Irdoued. B3 doys® ciﬁq}cavmumér‘

"h':fL:"A-Hb'JkJI?LJr_:u;‘:-EL.b'J 21#;((‘...#!5._1.’!
(A) 30% (13) 20% (C) 22.5% (1)) 25%

129) Subbu buys an old scooter for Rs.5,000 and spends Rs.2,.500 on repairs. IThe sells
the scooter for Rs. 10,000, the gain percentage is :

02 258 s KipobO 5,000 tmdranhen 520 2,500 trvobed o wawod, 10.000

ERDoDHUD S8 evimio o087

%Jilﬂ,ﬂﬂfﬁpfﬁqﬁﬁ—ﬁ%um&ﬁ- IS u7 uﬁ'ﬁ_.um}rdldl{ufli.f
_fﬂb:ﬂérgl?ﬁg!}ﬂrf-:isﬁld

(A) 50% (B) 40% © 3B Y% D 37 Y, %

130) Ashish purchased a dozen of toys at the rate ol Rs.840 per dozen. Ie sold cach toy
at the rate of Rs.98. What was his percentage profit?

85 dasy S0 8408rdahes; 523150, 658250 98 tndoned eMnd esd

erZigsdo OB 7Y
-.=~=":,)':_--._..-I.-='-ﬁ:%.u?ﬁl:.tl'{auf-{_t‘,gﬁc,?uticﬂu(j%.uﬁdﬂi.ycﬂu.{ljff

-b’ﬁlf,&éb’gbﬁulff_t‘f
(A) 40% (B) 30% (C) 20% (D) 50%

. 131) On selling 15 balls at Rs. 240, there is a loss equal to cost price of 3 ba!la The cost
price of a ball is

15 aooeis 240 trrobon o5B0 501 3 208w 5% 00l B0 SQBLOE, 5 208

89 do D087
J,»J’Jiihﬁc:.bﬁuw;u:&.afwr‘ Ju:.»fﬂfd_.fu..ﬁ:f ;_,ﬁf;:..uzf-lﬂfu:kflﬁ
Sy i d
(A) Rs.15 (B) Rs.20 (C) Rs.25 (D) Data insuflicient
(Set - A) 35
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132) A man purchased a box full of pencils at the rate of Rs.9.25 per pencil and soid all
of them at the rate of 11.75 per pencil. In this transaction, he gained Rs.50. Ilow

many pencils did the box contain?

25 58 DV, DoGBP &I 28 28I, 2:6% BRSO 6.9.25 B, 69, 2,65, bSO . 11.75
5 ORED B350, B3 BREod o8 K. 50 Deobbilond, & LK’ O HALH, oon?
Lf._g_j,j:,._‘,p £ﬁ{3%—.ull.25f.&ﬁ:‘.ﬂ._.¢-”'£ J%d-”LuShESuxl_f E"[,J':;u"?.l_.{l

S S Ut bW e 150
(A) 15 (B) 25 (€) 20 (D) 30

133) By sclling a chair for Rs.572, a man gains 30%. The cost price of the chair is:

28 38 28 DOV 10.5720 edpdo Hos 30% wrzo ond, & 8 E%30 vos?
?Jﬂl_,_f:gf-.:-fd,ﬁfdi?r;'._I.'Lrﬂfr{?ﬂ}%fpﬁ{:f:.-fu;;uf%_umf.l_f){._f!

v
-n:?‘

= [@)" Rs.340 (B) Rs.420 (C) Rs.440 (D) Rs.400

134) A can do a work in 15days and B in 20days. If they work on it together for 4days.

L.

then the fraction of the work that left is
25 50D A | Sﬁiweﬁf. 13 Eﬂﬁ'ﬁﬁeﬁj Sahise), DOLER EOR Doentsy Goeven md?_% 2050
DOB HO BD GOLNOD?

;A"LE.fffFﬁchjdﬂu;u-ﬁ?bfd‘iﬁu}ﬂ(}frﬂ_ﬂﬂ_f_tfd';pfujlﬁfr'#'...fm
?E’L@'MJLrE/ﬁ
(A) 1/4 (B) 8/15 (C) 172 (1)) 2/3

13{5} A can lay railway track in 16days and B can do the same job in 12days. With help of
v« C. they did the job in 4days only. Then, C alone can do the job in

Ly NS 98en 166568 Sanre. o son B 12 6508 Sabse. aecstn, C 8° 50
Y et 5 Hpeg) So0ipd. C 253 © H00 WY Giwref Sdndo?
S K14 S CSIBIIA b S S L 12 PESIBE e b 2 s 167 oA
K TS R E S oicI g i S
3 l

A 2
(A) ggdﬁys (I3) ggda}'s (C) ggda}'s (1) gé'da}“i-'-

(Set - A) 36
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136) 4 men or 8 women can complete a work in 12days. In how many days 6 men and 12
women complete the same work?
4ty Rytiospen Bwe 8 ool ﬁgw 28 HOD 126%¢8 Hpe dabret. 6thth Hrivxpes Srvoty

125000 Heo @ HOD IR Gordf Lpo SN? L 4 e
2L S L E L 120005 ,6Sr8sIur S s 124 6 LIE 15 82312 £45
(A) 5 (B) 6 (C) 7 (D) 4 -

137) A is 20% more c(licient than B. [low much time will they, working together take to
complete a job, il *A” alone can complete it in 24days?
A. B 5085 20% B0t H0 Sonhres. A 25,3 2465268 Janids H00, Rogiin 5Ok Ol

Slared Hpo Balriwtn?
U:LﬂJE#frE,ullFﬁ,gip:;yuﬁﬂﬂg;}'r\.él'}u;11-+rfrﬁ/ﬂjkaﬂ'%ﬂ-ﬂfﬁfﬂ
?;i'...l:'/'l};
l 1 1 l
(A) 133-duys (B) “:_,;days (C) 123;:]:1}*5 (D) 14-3-dny.~;

138) P can complete a work in 15days working 10 hours a day. *Q" can complete the
same work in 10days working 12 hours a day. Ifboth P and Q work together, working
8 hours a day, in how many days can they complete the work?

S 10kobe 0% a8 00 P 156%8° Fpo Solhretn. ed 500 Q 6% |2obe
G, 106528 gre Sabtod, P Qoo &t 00 Serdn Brfobw 7% HOBRBODE,
8 3o HOD Y Sierd’ HpY IRW?
bt SIS 0L S K 1257138 b S LunsL S 651057501 ¥ Lp
¢ S :_,{/rd‘ruﬁc}.:i‘ffrleLﬁlfrfgﬂ:ﬁufgfﬂulﬂfﬁ? |
| I |

1
8 8- 5 9= g
() 83 LI © 93 ) 8

139) A can do a picce of work in 10days. B can do the same work in 15days. Alter they
worked together for 3days, both of them lefl. The remaining work was finished by
‘C". If they get Rs.3.000 for the whole work, the share of *C” 1s:

28 500 A $06%wdion, o3 OO0 B, 156%w¢in Sabiio. sogtn 50 36%ew 50
B Btoaes SROSVD. 22805 500 C 2:8,3 Jpg S, 3w H8 t.3,000 3Podsions.
ot C clws, aver D087

gﬂirs’uﬂ_iffdﬂumﬁ_q.tﬁ};ww15!(5’515,{5%;;_L-fv“rud J210f ¥ LA

?fﬁg,.ﬂ?E’CuﬁJl?ﬁa‘E’i’,uMEJL(:fE'JI/ﬁ_ﬁLt'fJ;CrF',E;:I;:Jﬁ
(A) Rs.1.200 (B) Rs.1,800 (C) Rs.1,600 (1) Rs. 1,500

(Set - A) 37
www.sakshieducation.com



www.sakshieducation.com

140) Pipe ‘A’ fills a tank at the rate of 40liters per minute and pipe *B’ fills the same tank
at the rate of 30liters per minute. Another pipe ‘C” drains the tank at the rate of 20
liters per minute. The tank capacity is 1000 liters. 1f all the three pipes are open,
how long it will take the tank to overllow?
2D A’ 25 w000 DRAPD3 40508 D5, Y B’ 0B 025,050 DR0ap03 309y DD
poDHELF). 569 3% “C’ 2odpnd 20567 PHF el JoNes). © 08 HOBRWO
100085008, St PYOTR 2.3 PO BO, 8 W, PPYM DOBIMOITDEDE OB HLODO
DD T

2C et f el £ H300s 3B At f oo Lo § Haof B LIAL
AL E B Lo )F A fie e/t o Lond X2S
e 21000576 2 S

(A) 15 min. (3) 25 min, (C) 20 min. (1) 30 min.

1
141) A cando - of'awork in Sdays and B can do 7 ol the work in 10days. In how many

3 d
days both A and B together can do the work?

1 2
A, 28 508 3 ® B0 56%¢f Bodads’ 5B B8N 1 06%2refn Hp darsw.

DOOLIE 5OR & HOO Y 5 PO du‘ﬁbﬁa}tﬁ:?
f{f{fl/rJB;:lA_n:.b;gJ’:Lﬁu:lﬂ.ﬂ? s ¥r¥UBLIe rfd‘cu:u;s,«a? ¥ LIA

...-.‘:q,,,jf;,"‘(u":d.ii

4 3 3
(A) Eg (B) 9-8- (C) ?-4— (D) 10

142) A boy goes to his school from his house at a speed of 4 kmph and returns at a speed
of 6 kmph. If he takes 4 hours for Lo and fro, the distance between his house and

school is

25 2peuth R0 Bo0d KmSB 488m/Hok ios® 3¢, 68ax/iiob Sr508° 20638 HOH HF.

53 B0 DL @808 dioten HAB, 208, ToSE Bogh; A LRG0 HOB?

Fla ;UJL{.—J‘LLF’:EI'!SJ: U'#FJJJILE'E:-JUJd/j{:rd,;{}_hd_b;}:ﬂl&.;g)hﬂ
..fﬁbﬂrﬂhﬁdk‘uﬁu:duﬂ/{?g-bﬁﬂ:(ai'dgﬁd...lg n!d_-ll/f-m‘:-

(A" 12 km (B) 8 km (C) 20 km (D) 9.6 km
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143) The speed ol a train in the onward journey is 30% morc than its speed in the return
journcy. The total time taken for the to and [ro journcy is 16hours, including onc
hour half at destination. I the total distance travelled by the train is 900km, the

speed of the train in the return journey is

25 G B0, 55w, 0D BEHD Horwersdy Srsdn Sod 30% . IFERS Booow
OB 0rHGNB, BEARB0SS &8 Kob BHBRS Ao 592 | Kok BBHICDO HED. &
e HatReo SRS Bwio Grso 90088» ond, BH Yo’ Jen o KOs

NBpEE 16 i tosniT e p LF1enli30%3: L b el 2L
S8 ptn Lo 2 S563  1 Kooodowk o S N 3oy 7 1t 38 G
|

1 | l
(A) Sl kmph  (3) 52 kmph (C) 3537 kmph (D) 4]3

13 13 13 kuph

144) A car travels the (irst one-third of a certain distance with a speed of 10 kmph, the
next one-third distance with a speed of 20 kmph and the last one-third distance with
a speed ol 60 kmph. The average speed of the car for the whole journcy is

208 SeL0 Bt Dot B0 Broey 108u/toly Sr5oa%H0e, Botsid BoeiE BoW BP0
2080m/50t Stio85Hm, DHO HaRES Hos BRRY 608D/ oL Biiodssn, Hod), dnio
HoTraeRd Jen alng, D5k Jiio Hod?
/"'.'h,?ﬂpﬁ'.ﬁ[j[f’...flu:_/u..ﬁ‘-;.tjbLJE‘JJJL!/‘”%IGJ’LE?JW*‘ ﬁ'f:’_bfufl
[_)';L..rr{jffu::l’d-dfféJVJJjL;f’)(ﬁﬂﬁék LIS AT ula_u“’.—;..:ﬁ'“f,fd

_Jﬁmu,«mu}’f
(A) 18 kmph (B) 16 kmph (C) 24 kmph (D) 36 kmph

145) A train can travel 50% laster than a car. Both start from point A at the same time and
the train reached point B in 2.5 hours. If the distance between A and B is 150
kilometers, what is the speed of the car?

235 Jew I, 3r5an setd Srism okl 50% 5. Gew, soth A 08 8 Davabod? naben
B8, gen 2.5 obd Bo Jood. A,Be @ deto 150885 ©and, 506 s, tfo D08 ?
Jhic{}ulu{{ Lfb:;fubf::.-ﬁdﬁl{uﬁu-?aﬁu::.Jl-i.r;r.:"ﬂﬂ% e NSzt L
oSl B 889 0 2 K150406 810 16808 E1) i_e Qo & yBes1yt o

(A) 50 kmph (I3) 60 kmph (C) 40 kmph (D) 45 kmph
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146) The ratio between the speeds ol two trains is 5:6. 11 the sccond train runs 300 km in
four hours. then the speed ol the lirst train is

dotho Ei‘-:f ass0e DD 5:6. Cotsd Jen 30030 (50008 WD oL Hateedn) Jooese3 Te
ains, ﬁﬁu QOB 7
JUJJJJL&(J’L{AIL}‘(JA"‘FHr,#JEIBmJIJj/.U/I’-LE ﬁu...-"b-r;l.!.:J{_Jffn

o f

(A) 60 kmph (B) 62.5 kmph (C) 65 kmph (DY 70 kmph

147) A man covered a certaun distance at some speed. Had he moved 3 kmph laster, he
would have taken 4 hours. [ he had moved 2 kmph slower, he would have taken 8
hours. The distance travelled is:

28 B8 508 B5e0ed 5208 Sr508° Hatrdodin. ediy 388m/tiod WS Jtiod %, GO&)
4riobd’ Hobemo PRECDHD. w8 SY w8 28am/iow 850 Ao 3, 608 8toben HED.
BB HOTRBO DD (050 DO 7 2 - ﬁ

iﬂ;ﬁ/ud{th ﬁﬂ’&)b}d‘#fdflg:iff_-tji.bbﬁa)ﬁ!uwfurl

?fﬁwﬁbffyfjﬁiﬁ;ﬁ’u::{&;c.:_pg;:_JLUJﬂjdﬁygbji
({A) 40 km (13) 30 km (C) 50 km (D) 60 km

148) How much time will a train I7Em long take to cross a bridge 229m long, il it is
running at a speed of 45 kmph?

17180808 if‘atﬁé}fﬁ &8 Gen, 2290508015 s o E.}ﬂ-{'r 458nn/Hot 3od® o8 Diuahoss

ACINN L Wla Y

JL’JJJI.&L/'/HQJL-‘JJ&LIJHU:JJEIJJI -r*_/"l?lijLJd’u',Q'h_fl
*z:_,ffd/”';rdﬁ

(A) 35 sec (13) 30 sec (CY 40 sec (D) 32 sec

149) A clock is started at 670 clock in the morning. Through how many degrees will the
hour hand rotate when the clock shows 117 O clock in the morning?

&% BGoGo adoio iotes dndoowod. aono | 1 Hote 555 ﬁ}r‘{{aﬁnﬂg {m awen)
2R Gfjev Harno Ko ?

bW ST S B3 NE #§ 5L 6T 284 L0
(A) 140° (B) 160° <€) 120° YT 150°
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150) What is angle between the minute hand and hour hand at 6.157 e |53
btiobe 15002pel KBRS0 Bok Sny, St 8360 os?
N 2 l,f!l:‘: f:ljlﬂfsfu;uﬁﬁﬂfgﬁ 1556
(A) 87.5° (B) 97.5° €) 75° (D) 1125°

151) A clock is set right at 10am. The clock gains 10minutes in a day. What will be the
true time when the watch indicates 3pm the next day?
&8 BaoRoy |0Kobe Hodat. 8 BoRso Sk 1008dpe) JOLHBD. DO

G HomgRo & HGORGo Ioben SiRhsm Hlons DELoDo Qo8 aotnoDT

(A) 48min. past 2pm (B) 45min. past 2pm
(C) SOmin. past 2pm (D) 46min. past 2pm
Lﬂa"':n:}: {._.3ﬁ31|;h¢./fu)1-rlr_.al:: RIEI] A2 mu:;;,,ﬁt_fuﬂfu -.:7#:{7-105'6;.-?
A8 )
wrd6f2 (D) ws50f2 (© wrasf2 (B) wvasfr (A)
152) The Calender for the year 2002 is the same as for the year: > ®
2002 205650 5, B0EB, H HoBHEBO 53,8086 ev BB QoLRCD?
En$i LV LIS a0
(A)y 2009 (3) 2006 2007 (D) 2008
e OPL JOvy D pwe M ’:'5 “_"'
153) What will be the day on 1* January, 20147 " § 2 |
|ass0, 2014 & 6% 9)@007 _g',,wl,;,r’;’mm_,ﬁl(
v (A) Thursday (B) Tuesday (G}~ Wednesday (D) Friday
1 L‘
" 154) Which of the following is a lcap year?
208 @Dt DY DoBBs0 HDT
| oSS L i
(A) 1900 (13) 2 mu ¥C) Euuﬂ (D) All the above

R

155) A rectangle is 14cm long and ]Ux,m wide. If the leng,th is reduced by K cms and 1ts
width is increased also by K ems, so as to make it a square then its area changes by

28 HFSEBKo 14000» NG, 107080 3te) dod. EHO ‘K'vodr 8fod, 3b0yd
K 2000 20O o200 SHBHom angidiensd S50,06% dof H) éotwod?

duf”l;..hd;rfﬂWRJUJJII_.:../’J’IOJIH;HV’W[4JLJJJJJ“"JI

- ?E'r_l;ﬁdfﬁu:,egﬂjr:’r_@ﬁﬂh{ﬁde
(A) 6sqgem By 4 sqem (C) 8sgem (D) 12 sqem

41
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156) A motorcyclist rides over the wall of'a circular well liaving the radius of 140 nicers
at an average speed of 54 kmph. How much tme 1o e 7 -0 1
over the wall?

- 140 ek arirdo G dpesitay 695 DRt e el DB 348000k SIS0ET ek
3ot DoirBodEDd dod Diiabo DD T

W 650572 b3l S 2858 2 Fsafe 2y 1195850 L1d0s 4539 4 140
?E;ﬁ.ﬂbf,uu:.'; :

(A) 112 sec (B) 115 scc (C) 11233scec  (1» 117683 sec

157) If lem on a map corresponds to an actual distance ol 40kms, The distance on the
map between two places is 37.5ems, the actual distance between them is

&8 Do p 10o.dm, 408 are Dediond Gpoe) Mg, dorko Q&"}nﬁm B0, DD
Sxto-37.500.8% Goll, & ot HAvee dug), DEBEO0DH GRG0 DO

L}‘r;gkmﬁﬁﬁ&:?ﬂ.ﬁﬁiﬁﬁu?bfﬁjﬁJﬁﬁﬁﬁmjﬁﬁFIJ:_;F;T_'J:I
B >
(A) 1450 km (B) 1500 km (C) 1200 km (D) 1600 km

158) If the radius of a circle isincreased by 20%, then the arca 15 increased by:
HBED A, TPRR 20% Howd, PTev0 WoB TS0 DHNDEOD?
P ST L 3017 b S 1K20% ) B id s 5 L
(A) 48% (B) 52% (C) 44% (1) 42%
159) The perimeter of a rectangle is 60m. Ifits length is twice its breadth. then ats arca is:

258 B SEEHED I8, SokREPeS HORREN o0 Detssh SEEIEL Bt Byawd, T i

Palel: ¥
b F KT bl Ve (U2 S S Ui 2 0 bbb B L
(A) 200 m? (B) 160 m? (C) 180 m? (D) 220 m-
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160) Iind out the perimeter of the following shape.

Acwd aniyd Hosn ginG, {.i:é.}__:_n!i‘*rd_:lﬁ.}{] ERO 0.

Héf‘,l"-,mb’;ﬁ&saﬂ

A B - T.'-;i\\
|
T 12m
'Hf |
4 b=
IJ ; e e } T e — 'E [:
— - 30m — ]|
(A) 6dm (3y 74 m (C) 65m (D) 72m

161) tour concentric (having the same centre) circles with radius x, 2%.3x and 4x arc
drawn to form two rings A and 13 as shown in the figure. Ratio of the area of inner
ring A to the arca ol outer ring B is
£ath Borshn iooda v, 2x. 3y sooato dx maﬁr?ﬁﬂgﬂﬁﬁ A sooatn B en Botts Seaipen arioiiéy
I Adjedand £ FDAEI0N. WOBHEBHLODO A sopaty R Hano Be diws, davere 0538

i eh e

.‘E_L:r:u.'.';.z il Basl A Flass o Axaalx, 2, SIﬁJquﬁ(@ ..El.'f; E’UJJE"}U!}I.{JE

% il a ?fﬁg’-,-f‘[::E’a}hd:ﬁuh}hdu,ﬂl_;{?i
& N KT W

Ry "‘.\.L | T
L. M
I:I i i rf_- 'll.-"r- .__..-\.:
fl H =) *-H"}'E-“ ,'x?é.l,l +
I. o8 I'\-_i.'-‘_.-l__-" -'-I:":f =5 '
- Hf; \

“ Pyt »

o g

(C) 2:7 (D) 5:7

162) Il ~1?ff' =6 md 3/ =15, then p-q=?
A 3 ]

E = (b wICIn 3/ =15 @onad p-q=?

/S /4
F-‘?=?;ﬁ%=lsul%zﬁ/ﬁ
w5 @ Y © % ™ ¥,
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163) Introducing a boy, a girl said, “le is the son of the daughter of the father ol my
uncle”. How is the boy related to the girl?
(A) Uncle (B) Brother (C) Nephew (D) Nonc ol these
2% ©2ReR HOSANO DR 28 BGER,0 B3 HFoMR BROD. U3 V0N R BRE0N; IS,
B0 GlnE, Srid SUHD”. 8 ewow, 8dR,008 HBoRHTET

(A) Swsvab/erencn(BYy Sfdtdo (C) et (D) 23025y
Ve SIvL 2uinsei e b d ot < url...-._,,.fh":-’,«"a;_JfJﬂ_{!r-_nLEfL}‘t.{l
.

LAty o YPu @ du B BEurl (A

164) Prakash said to Nitin, “the boy playing with the football is the younger of the two
brothers of the daughter of my [ather’s wile™. [ow is that boy related to prakash?
(A) Son (B) Brother (C) Cousin (D) Noneof these
HES DBS & cooe HEOrR B “GeS ane i erenth S B0G Cla, 2P0 G10S, SRBEIHHE
61 RGO AGEHVST VYT, @ wresth HES 8 DRPHBET

(A) & (B). Ao (C) s&8 (D) 23003
KK 8567 et e uUInldnd e g §) &S "t e ¥
: "':E.,Cﬁ'g’ui =5

S8 et ® o © du ® & (A)

165) A, B and C are sisters. D is the brother of £ and [ is the daughter of 3. How 15 A

related to D?
(A) Aunt (B) Cousin (C) Sister (D) Niece

A, B, C e syt @8oen. ‘D', E 8 2o dook E, Baiws, ©ied eand A,DE

DEEHEI0D.

(A) @od3 (B) %23 (C) asse (BY dossten
So =2 A ADsASET - (FUBSZEnI SWFES 2Dt UF UZ CrlA, B
K O ot © wS ® T @A)

166) In a certain code SUMMER is coded as RUNNER, the code for WINTER will be
2% HBSSans §386% ‘SUMMER’ ® 'RUNNER’ o» 856 @ ‘WINTER’ 0 & &tom

858 Jonsesy ? |
¢ £ oS3/ SWINTERT r 2. /3 RUNNERS SUMMER/|
(A) SUFFER (B) WALKER (C) SUTTER & VIOUER
(Set - A) 44
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167) In a certain code language *123° means ‘bright little boy’, *145 mcans “tall big
boy™ and 637 means “beautiful little Oower™, which digit in that language means
‘bright™?
8 DA SHon® 556 wele® "123° ool 'hri!ighl little boy™ , 145 e@od “tall big boy”
Soo0 637 el “beautilul little flower”™. & 20565 5 wos “bright”  HROROD.
3 M beautifullittle flower"s 63751l bigboy"s 14551 “brightlitdeboy"s 123 & L bkl
280l oright'ef Lotiviiu s
(A) 1 (B3) 3 (€] 2 (D) 4

168) Complete the given scries by finding the missing term in the place of *77

8ot o FBed Haasto o w0 &F od Doy, HO?

e S ks T Lo "wﬁgrfdg;gd:;
1, 5, 14, 30, 55,91, 7
(A) 130 (B) 150 (C) 140 (P7 160

169) Find out the wrong number in the sequence.

8o® F3F 80,0 & Doz, O BoHH0s?
-:f&ﬁﬁJ&HWLﬂEJ&FHJ.
W, M -
216:24. 96, 285. 568. 567
(A) 6,y (B) 24 (C) 285 (D) 567

170) Complete the given scries by linding the missing term in place ol 2.
300 JAS HuPBO 50 W0 GO HERQ EE%D JOO Y Sonod.
:i,l:l'u S "‘r‘n NI ?;’é‘w;b;ﬂeﬂi&.u; PAEE R _jirﬁ;:,fdfdjé_.
P 2, ODE. MBQ! 1AW,

(A) SHJ (B3) Sl (C) RI1 (D) THK

171) Complete the series by linding the missing term.
808 FBe Hearso Ko OB GoEYD DR EXE%D JBD Py wabod.
_égi‘(fg;fjkﬂulji.f.'ﬁ(f" "y Jiy
127, K4X, 17V 2, H16R, M22P

(A) LI1IS (B) L.12S (C) LI12T (D) LIIT
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172) I'rom the given alternatives given below choose the correct one to [ill the series
BotS OB RBH HBHRES B0 VEOND DBRGHTR HRED FBO HPE BSovod.
1 -f‘f._f()ﬂ(..#JjLJJ;LJJ,;!‘JrLIAEL;EG-JJJJ:FiéJJJj
a-cacbe-baca--b

(A) baba (B) cach (C) babc (D) abac

173) *Apparel” is related to “Cloth” in the same way the “footwear is related to
‘oS’ B3N 565 DowoPoD0. 8B dFom "YEHE’ Sob 3 A DowoPoded?
Se e U 1903 U A1 Pbe e us L2

(&3 Lceather (B) Cobbler [C) Shoes (D) Sandals

(Dircctions from 174 10 177) In the following questions a pair ol words is given,
followed by four pairs of words as alternatives. Choose the pair in which the words
bear the same relationship to cach other as the words of the given pair bear.

aovesioen - (174 w008 177 $65) Bots owilpdd Dot Bods HrsSwe 31 HO0, Jod
HH0e meenth dise) QGO HB’ auBwaEs HESPOE? e Howoo Lo DowoGo
G DD WD WeeID VHRHHD0 #ood 5:08°%06.
Sz BB £y poe§ S22 B0t 1y S 3Gss (17417722 400)
AT y1 J..‘.JI,F:E';%&adﬁﬁfd;ddxrﬁdiﬁh{u,ﬁf
174) Druggist : Pharmacy

(A Carpenter @ Wood (I3) Librarian : Catalogue
(C) Physician : Patient (I2) Chel : Restaurant

175) Calender ; Date
(A)Y Time :Tlour (BJ Dictionary : Word
(C) Transport : Bus (D) City : Pincodc

176) Chocolate : Sugar
(A) Egg: Yolk (B) Road : Trallic
(&) Building : Cement (12 Milk : Crcam

177) Animal : Zoology

(A) Poems : Anthology (¥ Body : Physiology
(C) Man : Philanthropy (1)) Disease : Bacteriology
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(Dircctions 178-182) In cach of the [ollowing questions four words have been given.
Out of which three are alike in some manner, while the fourth one is difTerent.Choosc
the odd one.

dvcsden (178 Sood 182 555) : o anmiwdd $8 HHS° DventD HEHVOd AVBHEION.

®otHE’ Hanth HEBVes BB Voo DA SRRON. TR DO BREDL PO OB, PGom

éﬁm.’:‘&’l}ﬁ‘ﬁﬁ{ﬁ.

N TN ‘:f.'.f...plf_,::suruc e - JF:LJLUIJEQ:JLF{ (178 - 182 e lis)
LGB S0P

178) (A) Japan (B) Sri Lanka (C) Indonesia (D) India
179) (A9 Club (B) Hotel (C) Hostel (D) Inn
180) (A7 Applc (13) Guava (C) Watermelon (1D) Jackfruit
181) (A) Nosc (B liyes (C) legs (D) Hands
182) (A) Garlic (B¥Chilh (C) Ginger (D) Potato

183) IIF *REASON" is coded as *5° and "BELIEVED" as 7. then what is the code for
*GOVERNMENT™
REASON ® 5 856 3. BELIEVED® 700 6%6 38, GOVERNMENT c3ng, 5%

DO
Ly S35V GOVERNMENT"S i 2 /3 7/ "BELIEVED 151t 2./ 35"/ REASON./}
(A) 8 (B) 6 (C) 10 (B 9

184) Ifthe letters in PRABA are coded as 27595 and THILAK are coded as 368451, how
can BHARATI be coded?

PRATA 69 eoserso 275950 THI AK® 36845100 658 35 BIARATI 0 & sesons

8§56 Sanwesy? Q441

0L g /3 BHARATYS Ut 2 /3 /368451 / THILAK 51t 2. /3 27595/ PRABALS /1

(A) 9567538 (B) 9567568 (€7 9657538 (ID) 9675538
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Directions(Questions 185 to 189): Study the following information and answer the
questions given below it.
All the six members ol a lamily A,B,C.D, [ and I arc travelling together. B is the
son of C but C is not the mother ol B. A and C arc marricd Couple. £ is the brother
of C. 1) is the daughter o' A. I is the brother ol 3.
mmesden (185 Kook 189 &Sum): Sosonds BP0 DOED0D B0 CnHLBH Dafotd
RETRRRRe) DO,
AB.C.DLE Feo e Sotoaod®® dehw. antowe 500 Hosmpo wﬁﬁx_:;mgm. B,CaBws,
Barpthtisd C, 138 &8 satl, A soeain Cep EHO0R 2ok, E.C(ﬂ]}égr Ry Tnleble S [lﬂtﬂxﬁa
2693, F, Bolos, dsst.

ez Llatiy £E s niey f fel b 5t (185-189:201,)

UMSBS2Cof e i¥C LB Ut e o FL LIE1IA, B,C,D,B u§s1.4 £ 016
- QU ¥B S 2l U ASZD. ¢ SWHC I RE- c 126 ICssIA. e

185) How many male members are there in the family?

& Botuo2os® Dod sod )thdpen &mgt‘:’: T O
?Ugtf;ufibt;;u,ﬁ;m

(AT 4 (B) 3 (CY*% (N 1

186) Who is the mother of 3 7

?
B c3ws, 89 @@t e IS NS BRY!
(A) T B) A (C) D (D) E
187) How many children does A have?
A 8 D0# 5008 AN éagtﬂ;'?
s L IESA
(A) 1 (I3) 2 (C) 4 1)) 3
188) Who is the wile ol 157
[} B, and, D507
Y 'i'a:‘:*::.'fﬁ::-'JE
(A) A (B I
(C) B () can not be determined
189) How is I related wo DY
[%, D& DHavghsetio/Dangsond ? s = ,U¥DE
(A) Father (1% Uncle
(C) Brother (I2) Can not be determined
(Set - A) 48
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Dircetions (Questions 190 to 194) : Study the following information carclully and
answer the questions given below:

AB.C.D.EF and G are seven persons wearing a dilTerent colour shirt-white, red,
black, green, yellow, blue and voilet and a different colour trouscrs-blue, red, white.
black, crcam, yellow and indigo. The persons, colour of the shirt and colour ol the
trousers above are not necessarily in the same order. No person is wearing shirt and
trousers of same colour.

13 is wearing red colour shirt and is not wearing cream.of yellow colour trousers.
‘1" is wearing green colour shirt and indigo colour trousers. Colour of” A’ shirt and
I°s trousers is same. colour of E’s shirt and C’s trousers is same. G is wearing blue
shirt and I is wearing blue trousers. [ is not wearing any ycllow dress. A is not
wearing a white shirt. Red and blue is not the combination of shirt and trousers of

any ol the persons.

Redsen (190 dood 194 &565) © Botiondd DaRwoe enfjign <50, wed §085 &) DfpBd
ATV R IATIVELSY 5#3:55306-

ABLCDLEF.G e, S 5500, HOS Sorben S0 <Psnmd FHROLID. ©D BV, DY,
ey, BLDS, Hivwy, Do, Hocky GsRvom. a8d DGO Hoo, ). B, HeIY.
£S5, Hxudy Sooamn Snttodeo Borben So Dobned SKETL). S e, 20 Y, s,
Sorie, Mok Bore & FH08 dosIeRs B5Hto J. H 58 Eree &8 o So
s, | Dok BREIBED.

B oto®) Sots Pev, Shotroyts 30050 855 Jon D0 Boriy otn $OoBEE:.
) e 55010 S5, H00K0 S50 Heo Sorb Bo eotn Soowrd. A cing, FPsm, Sorb,
I Glwg, D0k Both Botsn @il 1§ Fespord, C Motn ot 258, G deo Borh e,
oot I Hector wotd Sknsemds. F ol Hrogyton coyen Seosdto. A 3
Ses, 0855, DD SO0 Heotorbe S0BTHS Ko BN SR Snslen)

ezl aﬂlrﬁé:éul&z:affal#ﬁé- s S5 (190- 1945 =004)
sitsstels g6 e AP Yt E e L uf;..if?f:q;/:ﬂ’ahﬁ J31A, B, C,D,E,F
AN e JEKs U il off [0 s e Jbesst g £ E0 B o JO LIS
E-I:E';.'(J.'.?H'j.:lﬁu{luﬁ uid-;'J,ij-:‘:.ufduﬁ:;-’L—E'pﬁ u;.-rd': U ate L
S W LG i1 pEFae g SRD T R L 1V L e o LN S
L2 G LI ENUH LCe f LB $ LI N YR LFite LA U
,r_-;i"‘J’:’:A-J;Eﬁu:'.')uﬂ;iﬁ'hf;é‘;JJ/I;TFH{_DE’,MEE’J;;_JHEJ:F»{.D%..'.-;F'JH_J:I'
& v Lﬁl'uufp?};&J;u’ﬁii:l-‘f;(hff-‘—:J'J."dﬂvcfr;béjh‘f;
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190) Who wears violet colour shirt ?
SARBOLD TP53, IBLD OO ?
(A) C
(C) Corl

191) What is the colour of B’s trousers?
B 3w, Aot Both DO 7
(A) Indigo/ Sndotdeo
(C) Yellow/ 305y

A
192) What is the colour of A’s trousers?
A G3ws, okndord HO?
(A) Cream/&a
(C) Indigo/susotdeo
Ju

193) What is the colour ol I''s shirt?
I 3w, $se, Soth HO?
(A) Green/ggn,
(C) Red/otomy

Vo

(Set - A) 50

(B) F
(D) Data inadequate/Ranonto @dadtio

?t,«;i.u"’..l.-}b’_ﬁﬁg

FLC (C) F @B C @&

(B) Red/odsy
(D) White/ 8endy
e U LK% LB

O -k © Ji ®uf @A

(B) Blue/$eo
(D)} Red/ot5y

?:.;:_.LU/JJF'{;J;{-J:A

® v © e ®EL !

(B)Y Blue/Heoo
(D) Data inadequate/Samarto @sotjo

{':P.l-’:r’..f.rrd.e;'dil:

@ JI © bst B Iz (A)
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194) What is the colour of GG’s trousers?
(3 CﬁJll'Jr& a%ﬂﬂﬂ Sot Eﬂ}’f’
(A)  Indigo/sansotiodeo (B) Creanvés
(C) White/Bengy (D) Red/otozy

e U KR LG
Ji @ & © £L® R @

195) A, I, R, X. S and 7 are sitting in a row. S and 7 arc in centre, and Aand P arc at the
ends. R is sitting on the left of A. Then who is sitting on the right of P?

AP R, XS, 7 e e St ERG3RID. S, 7 e E;ﬁﬁeﬁﬁ sooatn A, Peo D556° B0,
R, A 8 5550 $8550 EnE%ntd. PB 538 $5% et E0%t?

ASZRGE T e MPINAG YL Ul 10 S RTS8t &7 U2 /B L1Z 15IA, PR X, S
fLGabrud e L P L L

(A) S B) A (er X (D) 7

196) A man is lacing towards west and turns through 45° clockwise, again | g()° clockwise
and then turns through 270° anti clockwise. In which direction is he facing now?
(A) South-West (3) South (C) West (D) North-west

25 5.8 DB DL ODANPOP 608 45° VDI, HOHP | 0" VHOIS BORS B
270° ©5%5,H55° 80R8, @0 D D O BPHNPOT SE?

(&) Joos (B) &80 (C) a8 (D) spomso
ﬂﬁur-+mﬁwad;f3rr1Eﬁ°ur..-;~ﬂft5ﬁ’3=r45“fj S N 0y J”.,g.’n

e U L N80T eV b o 8 B 270P
“AUE D o (O R B) e (A
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197) A man walks 1 km towards cast and then he turns to south and walks 5 km. Again
he turns to east and walks 2 km, afier this he turns to north and walks 9 km. Now
how far is he from his starting point? '

25 5.8 i) 0%, & 28 Beanib $80, Bfro FH 80 5 B Rmb SEHI. & Bowed
#3053 S8 80d 2 BFDobt), Shars a8to 3 & 608 Y &.2men HEIW. PAE0 BB
20hHen B08 HBT0 Hod DoB BREoST Sart? :

o p L yie g B ESL S serd i fnsie O 2 K L3S L
?::_Ju[jrr_.rﬁ'ﬂ{jlﬁ;F.'ELhJ::JJJIiLE?T_ Ugﬁfﬂ:ﬁJJLi/ﬁuhf_ﬂgﬁyfii;%f

(A) 3km (B 5 km (C) 4 km (D) 7 km

Directions(questions 198 to 200) : In each of these questions, three words arce related
in some way. The relationship among the words in the questions can best be
represented by one of the four figures A,B,C and D given below. Choose your
answer accordingly.
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198) Week, Day, Year (D) Ji *
S0, 6%, DosiEso © L
199) Automobiles, Cars, Motorcycles
SeFADPS, s, Brersopde, Sty of 8 g E L ST
200) Tables, Books, Furniture
Sy, Yisen, PESE O Eh N el
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